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General Instructions :

(i) The question paper comprises of two sections, A and B. You are to

attempt both the sections.

(i) All questions are compulsory.
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(iii) There is no overall choice. However, internal choice has been
provided in all the three questions of five imarks category. Only one

option in such questions is to be attempted.

(iv) All questions of Section A and all questions of Section B are to be

attempted separately.

(v) Question numbers 1 to 6 in Section A and 19 to 21 in Section B are

short answer type questions. These questions carry one mark each.

(vi) Question numbers 7 to 12 in Section A and 22 to 24 in Section B are

short answer type questions and carry two marks each.

(vii) Question numbers 13 to 16 in Section A and 25 and 26 in Section B

are also short answer type questions and carry three marks each.

(viii) Question numbers 17 and 18 in Section A and question number 27 in

Section B are long answer type questions and carry five marks each.
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Section A
| A
1. What changes in the colour of iron nails and copper sulphate solution do
you observe after keeping the iron nails dipped in copper sulphate solution

for about 30 minutes ? 1

TR Hethe faeram 1 @e 31 il w1 30 e e gaTu Te o 9ve=rq 3119 e
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Z State two characteristic features of carbon which when put together give

rise to a large number of carbon compounds. 1

SN W ¥ S NI OF SE S SO S -
A a9a &

3. Explain why a ray of light passing through the centre of curvature of a

concave mirror gets reflected along the same path. 1
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4. What is the nature of the image formed by a concave mirror if the

magnification produced by the mirror is + 3 ?
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S A charged particle enters at right angles into a uniform magnetic field as
shown. What should be the nature of charge on the particle if it begins to
move in a direction pointing vertically out of the page due to its interaction

‘with the magnetic field ?

> Magnetic
Field
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6. Name the part of our eyes that helps us to focus near and distant objects in

quick succession. 1
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T What happens when an aqueous solution of sodium sulphate reacts
with an aqueous solution of barium chloride ? State the physical conditions
of reactants ' in which the reaction between them will not take place. Write
the balanced chemical equation for the reaction and name the type of

reaction. : " 2
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8. What is the main constituent of biogas ? How is biogas obtained from

biomass ? Write any two advantages of using this gas. _ 2
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9.

In the figure given below a narrow beam of white light is shown to pass
through a triangular glass prism. After passing through the prism it

produces a spectrum XY on a screen.

(a)  State the colour seen at X and Y.

- (b) Why do different colours of white light bend through different

angles with respect to the incident beam of light ?

= o ™ fomr o awii 1@ Yo YTt 1 ader gt ot Piysiennr s6i=r &
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10.  What is a solenoid ? Draw the pattern of magnetic field lines of a solenoid
through which a steady current flows. What does the pattern of field lines

inside the solenoid indicate ? 2

uftferent foret shad 8 7 forelt UEft aftemferen o graehia & Tansti &1 Yo dif
Toree 1S wamit formgq = wated gt & | IiATersRt o fiar i grash & @
F AT w27 .

11. A coil of insulated wire is connected to a galvanometer. What would be

seen if a bar magnet with its north pole towards one face of the coil is
(1) - moved quickly towards it,

(1)  moved quickly away from the coil and

(i) placed near its one face ?

Name the phenomena involved. 2
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12.

13.

14.

Mention any four limitations in harnessing wind energy on a large

scale.

9% A W 9o Sl o eled H B diel fohrel 9’ Senst  Seoid
EAIE Ll

At what distance should an object be placed from a convex lens of focal
length 18 cm to obtain an image at 24 cm from it on the other side. What

will be the magnification produced in this case ?

18 cm ®IHE g % 3I9a <@ ¥ et o =1 fopet gt ™ @ s
=1fey for susr wfafera ofa & 24 cm 1 20 WA 7 2w ol emads feam
= 7

No chemical reaction takes place when granules of a solid, A, are
mixed with the powder of another solid, B. However when the mixture is
heated, a reaction takes place between its components. One of the
products, C, is a metal and settles down in thé molten state while the other
product, D, floats over it. It was observed that the reaction is highly

exothermic.

(1) Based on the given information make an assumption about A and B
and write a chemical equation for the chemical reaction indicating
the conditions of reaction, physical state of reactants and products

and thermal status of reaction.

~(11)  Mention any two types of reactions under which above chemical

31/1/1
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15. Name the functional group of organic compounds that can be
hydrogenated. With the help of suitable example explain the process of
hydrogenation mentioning the conditions of the reaction and any one
change in physical property with the formation of the product. Name any

one natural source of organic compounds that are hydrogenated. 3
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16.
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Atoms of eight elements A, B, C, D, E, F, G and H have the same
number of electronic shells but different number of electrons in their
outermost shell. It was found that elements A anld G combine to form an
ionic compound. This compound is added in a small amount to
almost all vegetable ciishes during cooking. Oxides of elements A and
B are basic in nature while those of E and F are acidic. The oxide of D is
almost neutral. Based on the above information answer the following

questions :

(i)  To which group or period of the periodic table do the listed elements

belong ?

(i1)  What would be the nature of compound formed by a combination of

elements B and F ?
(111))  Which two of these elements could definitely be metals ?

(iv) Which one of the eight elements is most likely to be found in

gaseous state at room temperature ?

(v)  If the number of electrons in the outermost shell of elements C and |
G be 3 and 7 respectively, write the formula of the compound

formed by the combination of C and G. |
sMS el A, B, C, D, E, F, G @41 H ¥ ¥ ek UTHTY] T Tl 1SN hl T

U 2, W] §9h STeIay hiv § SoiagiHl oht T i~ 21 g awn
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e |t fesrEt ot 9 | foRan ST B | acd A 991 B o STadrge! ol Uhid
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17.  Write the names and symbols of two most reactive metals belonging to
group I of the periodic table. Explain by drawing electronic structure how
either one of the two metals reacts with a halogen. With which name is the
bond formed between these clements known and what 1s the class of the |
compound so formed known ? State any four physical properties of such

compounds. : 5

Or

What is meant by refining of a metals ? Name the most widely used method
of refining impure metals produced by various reduction processes.
Describe with the help of a labelled diagram how this method may be used

for refining of copper.
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Derive the expression for the heat produced due to a current ‘I’ flowing for
a time interval ‘#’ through a resistor ‘R’ having a potential difference ‘J”°
across its ends. With which name is the relation known ? How much heat
will an instrument of 12W produce in one minute if it is connected to a

battery of 12V ?

Or

Explain with the help of a Tabelled circuit diagram how you will find
the resistancle of a combination of three resistors, of resistance R;, R,
and Rj;, joined in parallel. Also mention how you will connect the ammeter
and the voltmeter in the circuit when measuring the current in the circuit
and the potential difference across one of the three resistors of the

combination.
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'Section B
T d

19. Name the green dot like structures in some cells observed by a student
when a leaf peel was viewed under a microscope. What is this green colour

due to ? ' - 3
Wﬁ%%wq&mﬁﬁﬁwaﬁm%mﬁ@ﬁmﬁ
1 forg ®f gRa AT <@ | 51 et 1 9@ forfa )| 7 g0 o e %R
BIE ?

20.  How 1s the spinal cord protected in the human body ? ' 1

TS IR H Aty il grea et g 7

21. How is the increasing demand for energy adversely affecting our

environment ? 1

mﬁmﬁmmﬁmm@uﬁam@%?
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22.

23.

24,

25.

26.

31/1/1

What are hormones ? Name the hormone secreted by thyroid and state its

function.

ETH T8I & ¢ ATS0aS gRT Hierd GIHI < ATH T ST h1d (IRau |

With the help of diagrams show the different stages of binary fission in

Amoeba.

T e e = s gm aven

Give one example each of characters that are inherited and the ones that are
acquired in humans. Mention the difference between the inherited and the

acquired characters.

TS o St idt § 3Tfid a1 I8 FZTa g0 @EUil § Yeish i Ueh-Tah IQTeX0
feTRaw | IuTfia Ta ATgafiie cequli o T=R 1 3oeid ity |

Write the full form of DNA. Name the part of the cell where it is located.

Explain its role in the process of reproduction of the cell.

DNA =7 QUi wnifedeh &9 foTfay | 7 it & @ 9w § fea 7, g am
TorRaw | shif3Tent 2 S weRm o g@eh! et TE it |

Explain the phenomenon of “biological magnification.” How does it affect
organisms belonging to different trophic levels particularly the tertiary

consumers ?
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27.

31/11

Sa sadA’ it aitee v Fifve | ffvm g dfa & Sl e gl

ITTHIST I SHRT T U1 USaT & ¢

Explain the process of digestion of food in mouth, stomach and small

intestine in human body.

Or

(a)  List the three events that occur during the process of photosynthesis.

Explain the role of stomata in this process.

(b)  Describe an experiment to show that “sunlight is essential for

photosynthesis.”
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